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1. Choose the best substitute for the between brackets sentence. ( Maria’s bedroom 
is next to Mark’s bedroom)  

1. Their bedroom is next to his bedroom 
2. His bedroom is next to his bedroom 
3. Her bedroom is next to his bedroom 
4. Make no change 

 

2. Choose the best substitute for the between brackets words in this sentence. (Mr. 
Jones is (a English teacher.  

1. English teacher 
2. an English teacher 
3. a teacher English 
4. Make no change 

 

3. What is the correct order of the following sentences? 1. Finally, the family relaxes 
and has lunch. 2. Next, Mr. and Mrs. Garcia put away the groceries in the kitchen. 3. 
Mrs. Garcia pays for the groceries and the Garcia family goes home. 4. Then, Maria 
and Francisco carry the groceries into the apartment.  

A. 4 - 2 - 1 - 3  

B. 3 - 4 – 2 – 1 

C. 2 - 3 - 4 - 1 

D. 1 – 4 – 3 - 2 

 

4. Khalid hated school ______ he always got good grades.  

A. until 

B. because 

C. although 

D. if 

 

5. Which is the best substitute for the underlined words? If the sentence is correct, 
choose "Make no change. "My family took a train to Chicago last summer.""  

A. took train 

B. drove a train 

C. flew a train 

D. Make no change 
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6. ___________ live and work in Riyadh.  

A. Ahmad 

B. Ahmad and his sister 

C. His sister 

D. Ahmad's sister 

 

7. On Thursday, students___________ wear costumes.  

A. going 

B. is going to 

C. are going to 

D. going to 

 

8. “Because I left the play early, I missed the surprise ending” is 
______________________.  

A. a simple sentence 

B. a compound sentence 

C. a complex sentence 

D. not a sentence 

 

9. Which is the best way to combine the following two sentences? "We travelled to 
New York. We saw the Statue of Liberty."  

A. We travelled to New York and saw the Statue of Liberty 

B. We travelled to New York, we saw the Statue of liberty. 

C. We travelled to New York and we saw the Statue of Liberty 

D. We travelled to New York but we saw the Statue of Liberty 

 

10. Which of the following sentences is punctuated correctly?  

A. It is raining as a result she is wearing a raincoat. 

B. It is raining; as a result, she is wearing a raincoat 

C. It is raining as a result, she is wearing a raincoat 

D. It is raining; as a result she is wearing a raincoat 


